T\No Oll-Sl'l.(\C'l' POS(HUQ 1'(\{{305 a ond & Sah'st He
vahon
| o
a-Lk = 201%-2a
What is the valwe of gl ?

We rearronge He 2puaton:

A"r 20 - b = 2018 [+ln on both sides]
— O«L+ 2a +\| - L)' - ZO(C\ [4'\ o both Sfule_sj

= (a+) L% = 2019 [Fachese]

= (a Iy -—L)(aHH_,) = 20(a [diFference oF
Sq\rov-e.'s]

Now, sSinie a and b 73 l'o‘-ejerf, 241 -bL  and

A+l +b must algo  be ‘f\kg{"’ So we Search For
factor e oF 2019 :

209 x |
673 x 2

Note thot a+leb >y atl-b So ia oLeck.-Aj both
coges (e w'\l\ mSju.On b the lalryer of He Factors

%au -b =
a+l +L =201



= Ya-b=zo
atrb = 208
Bub 4hea s=b, wheh is & conbradichon (weke told

'U'\ij A od b ove o‘-'ﬁ(:fftn-l-)

{a\sfl_lo:?)
Akl +L = (73

So the  answer is [6F2




